
1) Simplify 3:11

Answer: ____________

2) An amount was increased by 4% to 
$218.00. Find the original amount.

Answer: ____________

3) Find perimeter of 
rectangle having 
sides a = 81 cm 
and b = 35 cm

Answer: ____________

4) An amount was increased by 6% to 
$338.00. Find the original amount.

Answer: ____________

5) 72 - 61

Answer: ____________

6) 62 x 4

Answer: ____________

7) 90 - 13

Answer: ____________

8) 11/3 - 14/10

Answer: ____________

9) Round 4.5 to the nearest 10

Answer: ____________

10) Round 22.24081 to the nearest 1000

Answer: ____________

11) 74 / 73

Answer: ____________

12) $68.00 earning 2% compound 
interest for 3 years.

Answer: ____________

13) (-70) ÷ (-7)

Answer: ____________

14) Write 7 x 101 as a normal number.

Answer: ____________

15) 4/4 x 4/9

Answer: ____________
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16) Find perimeter of 
triangle
h = 28 , a = 81 m,
b = 90 m, c = 91m

Answer: ____________

17) 18/
11 ÷ 13

/10

Answer: ____________

18) Find the value of 'j' by completing the 
square of the following equation: 2 + 
6j + 8

Answer: ____________

19) 162 - 20 - 12

Answer: ____________

20) Simplify 3:17

Answer: ____________

Total: ___ / 20
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Answers:

1) 3 : 11 2) $209.62 3) 232cm 4) $318.87 5) 11 6) 248 7) 77

8) 24/15 9) 4.5 10) 22.241 11) 71 12) $72.16 13) 10 14) 70

15) 4/9 16) 262m 17) 137/143 18) (j + 3)2 - 1 19) 224 20) 3 : 17
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